CS 2104 Problem Solving in Computer Science In-class MiniWriting Assignment 2
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Write natural, grammatical negations of the following two statements:

I. If Franklin flew a kite, then Washington felled a cherry tree.

Franklin flew a kite but Washington did not fell a cherry tree.

I. If Sudoku is difficult, then crosswords are impossible and Kakuro is unbelievable.

Sudoku is difficult, but crosswords are not impossible or Kakuro is not unbelievable.
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Write natural, grammatical negations of the following two statements:

I.  If Washington flew a kite, then Franklin felled a cherry tree.

Washington flew a kite but Franklin did not fell a cherry tree.

I. If Sudoku is easy, then crosswords are impossible or Kakuro is unbelievable.

Sudoku is easy, but crosswords are not impossible and Kakuro is not unbelievable.




